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 פתרונות - 2חזקות ושורשים 

 מפתח תשובות נכונות:

1. (4) 2. (1) 3. (1) 4. (1) 5. (4) 6. (3) 7. (4)

1.
6 18

a b

a b

   
    
  

 a ?

 (1) b (2)1b (3)2b (4)3b 

6 18
a b

a b

   
    
  

 
6

181
b

a

 
 

 

18

2
6

2

1
b

a



9

3

1
b

a


3

9

1
a

b
 :נפעיל שורש שלישי

3

3

1
a b

b

 

2. 4 448 3 ? 

(1) 4 3 (2) 4144 (3) 38 2 (4) 8

4 4 4 4 4 4 4 4 4 448 3 3 16 3 16 3 3 2 3 3 3          

3.5 312 ?

(1)52 54 (2)3 364 (3)5 364   (4) 3 36

5 53 3 3 35 5 5 5 5 512 (4 3) 4 3 64 27 32 2 27 32 2 27 2 54             

4.
   

 

5 5

55

6 2
?

4 3

  


 

(1) 1- (2) 1 (3) 12 (4) 44

   

 

   

 

55 5 5

5 5 55

6 26 2 12
1

( 12)4 3 4 3

       
   

     

תרגול פסיכומטרי

תרגול פסיכומטרי

תרגול פסיכומטרי



© High Q 

5.    
8

510
3

2 6 420 20a b ?

 
        

 

 

 

(1 ) 3 ab    (2 )  10
ab   (3 ) ba3    (4) 3 3a b 

 

   
8

60 605510
20 6 83 20 20 202 6 2 310 60 60 3 320 204420 20a b a b a b a b a b

 
 

 
               

 

 

 

 

6. 6b 1 ba a 64   ;a 0 
a ? 

 
(1) 3    (2) b    (3) 2    (4) 3b 

 
6b 1 ba a 64   
6b 6 ba a a (2 )   

6b 6ba a a 2    נחלק ב-a: 

6b 6ba 2   6נפעיל שורש מסדרb: 
a 2 

 
 

7.  
2x

23 y 1
 

 
 

 ; y 0,1 

x ? 
 

 (1) 
3

4
    (2) 1    (3) 

4

3
    (4) 0 

 

 
2x

23 y 1
 

 
 

 

2x
2

3y 1

 
  
 
 

 

2
2x

03y y


  :מכאן נובע 
 

4x
0

3
 

x 0 
 

תרגול פסיכומטרי

תרגול פסיכומטרי




